# On the inverse problem of the Scattering Theory for a class of systems of dirac equations with discontiunous coefficient 

Kh. R. Mamedov*, ${ }^{*}$, Aynur Çöl<br>Mathematics Department, Science and Arts Faculty, Mersin University 33343, Ciftlikkoy Campus, Mersin, TURKEY


#### Abstract

In this paper it is devoted to study the inverse scattering problem for a singular boundary value problem of generalized form of system Dirac type. The new representation for the solutions of the differential equations system is considered, the scattering function is defined and its properties are given. The main equation is obtained for the solution of the inverse problem and it is shown the uniqueness of the solution of the inverse problem of scattering theory on the half line $[0, \infty)$.


AMS subject classifications: 34A55, 34B24, 34L05
Key words: Dirac operator on the half line, scattering function, inverse problem of scattering theory, uniqueness of the solution to inverse problem.

## 1. Introduction

We consider on the half line $(0, \infty)$ the system of Dirac equations

$$
\begin{equation*}
B Y^{\prime}+\Omega(x) Y=\lambda \rho(x) Y \tag{1.1}
\end{equation*}
$$

and the boundary condition

$$
\begin{equation*}
Y_{1}(0)-h Y_{2}(0)=0, \tag{1.2}
\end{equation*}
$$

where $h$ is an arbitrary real number, $\lambda$ is spectral parameter, $p(x)$ and $q(x)$ are real-valued measurable functions,

$$
\Omega(x)=\left(\begin{array}{cc}
p(x) & q(x) \\
q(x) & -p(x)
\end{array}\right), \quad B=\left(\begin{array}{cc}
0 & 1 \\
-1 & 0
\end{array}\right), \quad Y=\binom{Y_{1}}{Y_{2}} .
$$

Also, the coefficient $\rho(x)$ is a piecewise constant function takes the form

$$
\rho(x)=\left\{\begin{array}{cc}
\alpha, & 0 \leq x<a,  \tag{1.3}\\
1, & x \geq a,
\end{array}\right.
$$

[^0]and $1 \neq \alpha>0$. Assume that the condition
\[

$$
\begin{equation*}
\int_{0}^{\infty}\|\Omega(x)\| d x<\infty \tag{1.4}
\end{equation*}
$$

\]

is satisfied for Euclidean norm.
The aim of this paper is to show the uniqueness of solution of the inverse problem for the boundary value problem (1.1), (1.2) with discontinuous coefficients on the half line $(0, \infty)$.

The inverse scattering problem for classical Sturm-Liouville and Dirac operators on the half line was solved completely in [1]- [7]. In the case that coefficients have discontinuous points, it is come up new changes in the solution of problem. For example, when the potential has a discontinuous point at $x=a$, the solution of inverse problem on the half line $(0, \infty)$ is turned to the solutions of two inverse problems in the intervals [0,a] and $[a, \infty$ ) (see [8]). In this case it is used the new integral representation for the solution (see [9], [10]), not operator transformation. We showed the literature about the inverse scattering problem on the half line. The inverse problem of scattering theory for Sturm-Liovuille problem with discontinuous coefficients on the half line was investigated in [11], [12]. The references about the inverse problems for Dirac operators on the finite and the half-infinite intervals were given in [13]. The results obtained in this work were presented in the conference [14].

Let suppose that

$$
\mu(x)=\left\{\begin{array}{cc}
a+\alpha(x-a), & 0 \leq x \leq a \\
x, & x>a
\end{array}\right.
$$

We denote the solution of the equation (1.1) satisfying the condition

$$
\lim _{x \rightarrow \infty} f(x, \lambda) e^{-i \lambda x}=\binom{1}{-i}
$$

by $f(x, \lambda)$. When $\Omega(x) \equiv 0$, it is easily obtained the solution of the equation (1.1) having this property in this form

$$
f^{0}(x, \lambda)=\binom{1}{-i} e^{i \lambda \mu(x)}
$$

As in [9] and [10], let $F(x, \lambda)$ be a solution of the equation (1.1) satisfying the condition

$$
\lim _{x \rightarrow \infty} F(x, \lambda) e^{-\lambda B x}=\left(\begin{array}{ll}
1 & 0 \\
0 & 1
\end{array}\right)
$$

It is obvious that

$$
f(x, \lambda)=F(x, \lambda)\binom{1}{-i}
$$

Therefore, it suffices to check that $F(x, \lambda)$ has the form

$$
\begin{equation*}
F(x, \lambda)=e^{-\lambda B \mu(x)}+\int_{\mu(x)}^{\infty} K(x, t) e^{-\lambda B t} d t \tag{1.5}
\end{equation*}
$$

By the method of variation of parameters, it is obtained the integral equation for $F(x, \lambda)$ :

$$
\begin{equation*}
F(x, \lambda)=e^{-\lambda B \mu(x)}-\int_{x}^{\infty} B \Omega(t) e^{\lambda B \mu(x)-\lambda B \mu(t)} F(t, \lambda) d t \tag{1.6}
\end{equation*}
$$

In order for the function $F(x, \lambda)$ to satisfy this integral equation, it is necessary that the equality

$$
\begin{align*}
\int_{\mu(x)}^{\infty} K(x, t) e^{-\lambda B t} d t= & -\int_{x}^{\infty} B \Omega(t) \exp \{\lambda B \mu(x)-\lambda B \mu(t)\} \times \\
& {\left[e^{-\lambda B \mu(t)}+\int_{\mu(t)}^{\infty} K(t, s) e^{-\lambda B s} d s\right] d t } \tag{1.7}
\end{align*}
$$

holds. Conversely, if the matrix function $K(x, t)$ satisfies this equality, then the matrix function $F(x, \lambda)$ satisfies the integral equation (1.6).

We transform the right hand side of the equality (1.7) such that it is similar to the left hand side of this equality. Let's assume the following expressions:

$$
K_{ \pm}(x, t)=\frac{1}{2}[K(x, t) \pm B K(x, t) B] .
$$

It is clearly from the expressions of the matrix functions $K_{ \pm}(x, t)$ that

$$
\begin{aligned}
K(x, t) & =K_{+}(x, t)+K_{-}(x, t), \\
B K_{+}(x, t) & =\frac{1}{2}[B K(x, t)-K(x, t) B]=-K_{+}(x, t) B, \\
B K_{-}(x, t) & =\frac{1}{2}[B K(x, t)+K(x, t) B]=-K_{-}(x, t) B .
\end{aligned}
$$

By transforming the right hand of (1.6), it is obtained for the matrix functions $K_{ \pm}(x, t)$ the following integral equations:

$$
K_{+}(x, t)=-\frac{1}{2 \alpha} B \Omega\left(\frac{t+\alpha x+\alpha a-a}{2 \alpha}\right)-\int_{x}^{\frac{t+\alpha x+\alpha a-a}{2 a}} B \Omega(\zeta) K_{-}(\zeta, t-\alpha \zeta+\alpha x) d \zeta
$$

if $0<x<a, \quad \alpha x-\alpha a+a<t<-\alpha x+\alpha a+a$;

$$
\begin{aligned}
K_{+}(x, t)= & -\frac{1}{2} B \Omega\left(\frac{t+\alpha x-\alpha a+a}{2}\right)-\int_{x}^{a} B \Omega(\zeta) K_{-}(\zeta, t-\alpha \zeta+\alpha x) d \zeta \\
& -\int_{a}^{\frac{t+\alpha x-\alpha a+a}{2}} B \Omega(\zeta) K_{-}(\zeta, t-\zeta+\alpha x-\alpha a+a) d \zeta
\end{aligned}
$$

if $0<x<a, \quad t>-\alpha x+\alpha a+a$;

$$
\begin{aligned}
K_{-}(x, t)= & -\int_{x}^{a} B \Omega(\zeta) K_{+}(\zeta, t+\alpha \zeta-\alpha x) d \zeta \\
& -\int_{a}^{\infty} B \Omega(\zeta) K_{+}(\zeta, t+\zeta-\alpha x+\alpha a-a) d \zeta,
\end{aligned}
$$

if $0<x<a, \quad t>\alpha x-\alpha a+a$;

$$
\begin{aligned}
& K_{+}(x, t)=-\frac{1}{2} B \Omega\left(\frac{x+t}{2}\right)-\int_{x}^{\frac{x+t}{2}} B \Omega(\zeta) K_{-}(\zeta, t+x-\zeta) d \zeta \\
& K_{-}(x, t)=-\int_{x}^{\infty} B \Omega(\zeta) K_{+}(\zeta, t-x+\zeta) d \zeta
\end{aligned}
$$

if $t>x>a$.
The solvability of these equations system can be established by the method of successive approximations. It is obtained the following theorem.

Theorem 1.1. [9] Assume that the condition (1.4) is satisfied. Then for $\operatorname{Im} \lambda \geq 0$ the equation (1.1) has an unique solution in the form

$$
\begin{equation*}
f(x, \lambda)=f^{0}(x, \lambda)+\int_{\mu(x)}^{\infty} K(x, t)\binom{1}{-i} e^{i \lambda t} d t \tag{1.8}
\end{equation*}
$$

where the elements of the matrix function $K(x, t)$ are summable on the positive half line and $K(x, t)$ satisfies the following property

$$
\int_{\mu(x)}^{\infty}\|K(x, t)\| d t \leq e^{\sigma(x)}-1
$$

here $\sigma(x)=\int_{x}^{\infty}\|\Omega((t))\| d t$.
Also, if $\Omega(x)$ is absolute continuous, then it is obtained from the equations system above the relations

$$
\begin{align*}
& B K_{x}(x, t)+\Omega(x) K(x, t)=-\rho(x) K_{t}(x, t) B \\
& \rho(x)\{B K(x, \mu(x))-K(x, \mu(x)) B\}=\Omega(x) \tag{1.9}
\end{align*}
$$

Let $y(x, \lambda)$ and $z(x, \lambda)$ be vector functions. The expression

$$
W[y(x, \lambda), z(x, \lambda)]=y^{T}(x, \lambda) B z(x, \lambda)=\left(y_{1}, y_{2}\right)\left(\begin{array}{cc}
0 & 1 \\
-1 & 0
\end{array}\right)\binom{z_{1}}{z_{2}}=y_{1} z_{2}-y_{2} z_{1}
$$

is called Wronskian of the vector functions $y(x, \lambda)$ and $z(x, \lambda)$.
Since $p(x)$ and $q(x)$ are real valued functions, the vector functions $f(x, \lambda)$ and $\overline{f(x, \lambda)}$ constitute fundamental system of solutions of the equation (1.1) for real $\lambda$. Wronskian of this functions doesn't depend on $x$ and is equal to $2 i$

$$
w[f(x, \lambda), \overline{f(x, \lambda)}]=2 i .
$$

Denote by $\varphi(x, \lambda)$ the solution of the equation (1.1) satisfying the initial conditions

$$
\begin{equation*}
\varphi_{1}(0, \lambda)=h, \quad \varphi_{2}(0, \lambda)=1 . \tag{1.10}
\end{equation*}
$$

Let us define the function

$$
\begin{equation*}
\Delta(\lambda)=f_{1}(0, \lambda)-h f_{2}(0, \lambda) . \tag{1.11}
\end{equation*}
$$

## 2. The Scattering Function

It is proved the following lemma.
Lemma 2.1. The identity

$$
\begin{equation*}
\frac{2 i \varphi(x, \lambda)}{\Delta(\lambda)}=\overline{f(x, \lambda)}-S(\lambda) f(x, \lambda) \tag{2.1}
\end{equation*}
$$

holds for all real $\lambda$, where

$$
\begin{equation*}
S(\lambda)=\frac{\overline{f_{1}(0, \lambda)}-h \overline{f_{2}(0, \lambda)}}{f_{1}(0, \lambda)-h f_{2}(0, \lambda)} \tag{2.2}
\end{equation*}
$$

and

$$
|S(\lambda)|=1
$$

Proof. Since $f(x, \lambda)$ and $\overline{f(x, \lambda)}$ constitute the fundamental system of solutions of equation (1.1) on the half line $(0, \infty)$ for real $\lambda$, it is written

$$
\begin{equation*}
\varphi(x, \lambda)=c_{1}(\lambda) f(x, \lambda)+c_{2}(\lambda) \overline{f(x, \lambda)}, \tag{2.3}
\end{equation*}
$$

where $c_{1}(\lambda)$ and $c_{2}(\lambda)$ are functions, which we have to find. Substituting $x=0$ and taking into account the initial conditions (1.10), it is obtained

$$
\begin{aligned}
& c_{1}(\lambda) f_{1}(0, \lambda)+c_{2}(\lambda) \overline{f_{1}(0, \lambda)}=h, \\
& c_{1}(\lambda) f_{2}(0, \lambda)+c_{2}(\lambda) \overline{f_{2}(0, \lambda)}=1 .
\end{aligned}
$$

From here, it is found

$$
c_{1}(\lambda)=-\frac{\overline{f_{1}(0, \lambda)}-h f_{2} \overline{(0, \lambda)}}{2 i}, \quad c_{2}(\lambda)=\frac{f_{1}(0, \lambda)-h f_{2}(0, \lambda)}{2 i} .
$$

For all real $\lambda, \Delta(\lambda) \neq 0$. In fact, assume the contrary that $f_{1}(0, \lambda)=h f_{2}(0, \lambda)$ for $\lambda_{0} \in$ $(-\infty, \infty)$. It is clearly that $\overline{f_{1}\left(0, \lambda_{0}\right)}=h \overline{f_{2}\left(0, \lambda_{0}\right)}$. Then it is found

$$
W\left[f\left(0, \lambda_{0}\right), \overline{f\left(0, \lambda_{0}\right)}\right]=2 i
$$

or

$$
f_{1}\left(0, \lambda_{0}\right) \overline{f_{2}\left(0, \lambda_{0}\right)}-f_{2}\left(0, \lambda_{0}\right) \overline{f_{1}\left(0, \lambda_{0}\right)}=2 i .
$$

If we substitute the expression of $f_{1}\left(0, \lambda_{0}\right)$ and $\overline{f_{1}\left(0, \lambda_{0}\right)}$ above, it is found a contradiction.
Substituting the constants $c_{1}(\lambda), c_{2}(\lambda)$ in (2.3) and dividing the equality by $\Delta(\lambda)$, the identity (2.1) is obtained. From (2.2)

$$
S(\lambda)=\frac{\overline{f_{1}(0, \lambda)}-h \overline{f_{2}(0, \lambda)}}{f_{1}(0, \lambda)-h f_{2}(0, \lambda)}=\overline{\left\{\begin{array}{l}
f_{1}(0, \lambda)-h f_{2}(0, \lambda) \\
\overline{f_{1}(0, \lambda)}-h \overline{f_{2}(0, \lambda)}
\end{array}\right.}=\overline{[S(\lambda)]}=[S(\lambda)]^{-1} .
$$

The lemma is proved.
The function $S(\lambda)$ is called the scattering function of the boundary value problem (1.1)(1.2).

In particular if $\Omega(x) \equiv 0$, the equality (2.1) has the form

$$
\begin{equation*}
\frac{2 i \varphi^{0}(x, \lambda)}{\Delta(\lambda)}=\overline{f^{0}(x, \lambda)}-S_{0}(\lambda) f^{0}(x, \lambda) \tag{2.4}
\end{equation*}
$$

where the vector function $\varphi^{0}(x, \lambda)$ is a solution of the equation (1.1) satisfying the initial conditions

$$
\varphi_{1}^{0}(0, \lambda)=h, \quad \varphi_{2}^{0}(0, \lambda)=1
$$

and

$$
S_{0}(\lambda)=\frac{\overline{f_{1}^{0}(0, \lambda)}-h \overline{f_{2}^{0}(0, \lambda)}}{f_{1}^{0}(0, \lambda)-h f_{2}^{0}(0, \lambda)}=e^{-2 i \lambda a(1-\alpha)} \frac{1+i h}{1-i h} .
$$

We saw in the proof of Lemma 2.1 that the function $\Delta(\lambda)$ had no real zeros. From the expression (1.8) of the solution, it is clear that $f_{1}(0, \lambda)$ and $\overline{f_{1}(0, \lambda)}$ can be continued as analytical and are continuous on the whole line. This properties holds for $\Delta(\lambda)$. As $|\lambda| \rightarrow \infty$

$$
f(0, \lambda) \rightarrow\binom{1}{-i}
$$

and thus the zeros of $\Delta(\lambda)$ in the upper plane are not more than countable and constitute a bounded set.

Let us show that $\Delta(\lambda)$ has no zeros on the upper half plane. Assume the contrary. Let $\mu(\operatorname{Im} \mu>0)$ be one of the zeros of the function $\Delta(\lambda)$.The function $f^{*}(x, \mu)$ denotes the transposed matrix function of $\overline{f(x, \mu)}$.

Now differentiating the equation

$$
B f^{\prime}(x, \mu)+\Omega(x) f(x, \mu)=\rho(x) \mu f(x, \mu)
$$

with respect to $\mu$, one obtains the following equation

$$
-f^{*}(x, \mu) B+f^{*}(x, \mu) \Omega(x)=\rho(x) \bar{\mu} f^{*}(x, \mu) .
$$

Taking this into account, multiplying the first equation by $f^{*}(x, \mu)$ and the second equation by $f(x, \mu)$, and subtracting the first equality from the second one, and finally integrating this relation according to $x$ from 0 to $\infty$, we get

$$
\left.W\{\overline{f(x, \mu)}, f(x, \mu)\}\right|_{x=0}+(\bar{\mu}-\mu) \int_{0}^{\infty} f^{*}(x, \mu) f(x, \mu) \rho(x) d x=0
$$

On the other hand we have

$$
\Delta(\mu) \equiv f_{1}(0, \mu)-h f_{2}(0, \mu)=0
$$

or

$$
f_{1}(0, \mu)=h f_{2}(0, \mu)
$$

Hence, we get

$$
\left.W\{\overline{f(x, \mu)}, f(x, \mu)\}\right|_{x=0}=\overline{f_{1}(0, \mu)} f_{2}(0, \mu)-\overline{f_{2}(0, \mu)} f_{1}(0, \mu)=0
$$

and then

$$
(\bar{\mu}-\mu) \int_{0}^{\infty} f^{*}(x, \mu) f(x, \mu) \rho(x) d x=0
$$

It is found $\mu=\bar{\mu}$ from here. It is contrary to assumption.
Thus, we arrived the following result.
Lemma 2.2. $\Delta(\lambda)$ is analytic in the upper half plane $(\operatorname{Im} \lambda>0)$, is continuous function on the whole line and has no zeros on the upper half plane.

From the results in Lemma 2.1 and Lemma 2.2, we obtain that the function $S(\lambda)$ is continuous and for $|\lambda| \rightarrow \infty$ the following asymptotic form holds

$$
S(\lambda)=S_{0}(\lambda)+O\left(\frac{1}{\lambda}\right)
$$

and accordingly $S(\lambda)-S_{0}(\lambda) \in L_{2}(-\infty, \infty)$.

## 3. Derivation of The Main Equation

In this chapter, we show that if the scattering function of the boundary value problem (1.1), (1.2) are known, then we can construct an integral equation for the unknown function $K(x, t)$. We obtain the integral equation which has an important role in the solution of the inverse boundary value problem (1.1)-(1.2).

To show it, the identity (2.1) in Lemma 2.1 is used. Let's substitute the expression (1.8) of the function $f(x, \lambda)$

$$
\begin{aligned}
& \frac{2 i \varphi(x, \lambda)}{\Delta(\lambda)}+S_{0}(\lambda)\binom{1}{-i} e^{i \lambda \mu(x)}-\binom{1}{-i} e^{-i \lambda \mu(x)} \\
= & \int_{\mu(x)}^{\infty} K(x, t)\binom{1}{i} e^{-i \lambda t} d t-S_{0}(\lambda) \int_{\mu(x)}^{\infty} K(x, t)\binom{1}{-i} e^{i \lambda t} d t \\
& +\left[S_{0}(\lambda)-S(\lambda)\right]\binom{1}{-i} e^{i \lambda \mu(x)}+\left[S_{0}(\lambda)-S(\lambda)\right] \int_{\mu(x)}^{\infty} K(x, t)\binom{1}{-i} e^{i \lambda t} d t .
\end{aligned}
$$

Multiplying this equality by $\frac{1}{2 \pi}(1,-i) e^{i \lambda y}$ and integrating it to $\lambda$, from $-\infty$ to $\infty$ we get

$$
\begin{align*}
& \operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty}\left[\frac{2 i \varphi(x, \lambda)}{\Delta(\lambda)}+S_{0}(\lambda)\binom{1}{-i} e^{i \lambda \mu(x)}-\binom{1}{-i} e^{-i \lambda \mu(x)}\right](1,-i) e^{i \lambda y} d \lambda \\
= & \operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty} \int_{\mu(x)}^{\infty} K(x, t)\binom{1}{i}(1,-i) e^{-i \lambda(t-y)} d t d \lambda \\
& -\operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty} S_{0}(\lambda) \int_{\mu(x)}^{\infty} K(x, t)\binom{1}{-i}(1,-i) e^{i \lambda(t+y)} d t d \lambda+  \tag{3.1}\\
& +\operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty}\left[S_{0}(\lambda)-S(\lambda)\right] \int_{\mu(x)}^{\infty} K(x, t)\binom{1}{-i}(1,-i) e^{i \lambda(t+y)} d t d \lambda \\
& +\operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty}\left[S_{0}(\lambda)-S(\lambda)\right]\binom{1}{-i}(1,-i) e^{i \lambda(\mu(x)+y)} d \lambda .
\end{align*}
$$

It is easily shown that

$$
\begin{aligned}
\operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty}\binom{1}{i}(1,-i) e^{-i \lambda(t-y)} d \lambda & =\operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty} e^{-i \lambda(t-y)}\left(\begin{array}{cc}
1 & -i \\
i & 1
\end{array}\right) d \lambda \\
=\delta(t-y) I_{2} & \equiv \delta_{2}(t-y), \quad I_{2}=\operatorname{Re}\left(\begin{array}{cc}
1 & -i \\
i & 1
\end{array}\right),
\end{aligned}
$$

where $\delta(x)$ is the Dirac delta function.
Thus

$$
\begin{aligned}
\int_{\mu(x)}^{\infty} K(x, t) \operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty}\binom{1}{i}(1,-i) e^{-i \lambda(t-y)} d \lambda d t & =\int_{\mu(x)}^{\infty} K(x, t) \delta_{2}(t-y) d t \\
& =K(x, y)
\end{aligned}
$$

and

$$
\begin{gathered}
\operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty} S_{0}(\lambda) \int_{\mu(x)}^{\infty} K(x, t)\binom{1}{-i}(1,-i) e^{i \lambda(t+y)} d t d \lambda= \\
\int_{\mu(x)}^{\infty} K(x, t) \operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty} S_{0}(\lambda)\left(\begin{array}{cc}
1 & -i \\
-i & -1
\end{array}\right) e^{i \lambda(t+y)} d \lambda d t .
\end{gathered}
$$

Now, we calculate the integral

$$
\int_{-\infty}^{\infty} S_{0}(\lambda) e^{i \lambda(t+y)} d \lambda
$$

Substituting $S_{0}(\lambda)$ here, we find

$$
\int_{-\infty}^{\infty} S_{0}(\lambda) e^{i \lambda(t+y)} d \lambda=\frac{1+i h}{1-i h} \delta(t+y-2 a(1-\alpha))
$$

Taking this values into account on the right hand of (3.1), we get

$$
\begin{aligned}
& K(x, y)+\operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty}\left[S_{0}(\lambda)-S(\lambda)\right] \int_{\mu(x)}^{\infty} K(x, t)\binom{1}{-i}(1,-i) e^{i \lambda(t+y)} d t d \lambda \\
& +\operatorname{Re} \frac{1}{2 \pi} \int_{-\infty}^{\infty}\left[S_{0}(\lambda)-S(\lambda)\right]\left(\begin{array}{cc}
1 & -i \\
-i & -1
\end{array}\right) e^{i \lambda(\mu(x)+y)} d \lambda \\
& -\int_{\mu(x)}^{\infty} K(x, t) R e \frac{1}{2 \pi}\left(\begin{array}{rr}
1 & -i \\
-i & -1
\end{array}\right) \frac{1+i h}{1-i h} \delta(t+y-2 a(1-\alpha)) d t=K(x, y) \\
& +\int_{\mu(x)}^{\infty} K(x, t) F_{0}(t+y) d t+F_{0}(\mu(x)+y)-R e \frac{1+i h}{1-i h} K(x, 2 a(1-\alpha)-y),
\end{aligned}
$$

where

$$
F_{0}(x)=R e \frac{1}{2 \pi} \int_{-\infty}^{\infty}\left[S_{0}(\lambda)-S(\lambda)\right]\left(\begin{array}{cc}
1 & -i  \tag{3.2}\\
-i & -1
\end{array}\right) e^{i \lambda x} d \lambda
$$

and $K(x, 2 a(1-\alpha)-y)=0$ for $y>\mu(x)$.
Hence, the right hand of (3.1) has the form

$$
K(x, y)+F_{0}(\mu(x)+y)+\int_{\mu(x)}^{\infty} K(x, t) F_{0}(t+y) d t
$$

for $y>\mu(x)$.
Since integrand on the left hand of (3.1) is analytic, it is obtained that the left hand is equal to zero. Hence for $y>\mu(x)$ we get

$$
\begin{equation*}
K(x, y)+F_{0}(\mu(x)+y)+\int_{\mu(x)}^{\infty} K(x, t) F_{0}(t+y) d t=0 \tag{3.3}
\end{equation*}
$$

from (3.1), where $F_{0}(x)$ is defined by (3.2).
The integral equation (3.3) is called the main equation of the boundary value problem (1), (2).

Eventually we proved the following theorem.
Theorem 3.1. For each $x \geq 0$, the kernel $K(x, y)$ of special solution of (1.8) satisfies the main equation.

## 4. Solvability of The Main Equation

Theorem 4.1. For each fixed $x \geq 0$, the main equation has an unique vector solution with elements in $L_{2}(\mu(x), \infty)$.

Proof. Suppose that the scattering function $S(\lambda)$ is given. It is found the function $F_{0}(x)$ by the formula (3.2) and the main equation is constructed by aid of this. Let us rewrite it in the more convenient form

$$
\begin{equation*}
K(x, t+\mu(x))+F_{0}(t+2 \mu(x))+\int_{0}^{\infty} K(x, \zeta+\mu(x)) F_{0}(\zeta+t+2 \mu(x)) d \zeta=0 \tag{4.1}
\end{equation*}
$$

and seek its solution $K(x, y+\mu(x))$ for every $x \geq 0$ in the same space $L_{2}(\mu(x), \infty)$.
We consider the operator $\mathbf{F}_{0 x}$

$$
\mathbf{F}_{0 x} f=\int_{0}^{\infty} f(\zeta) F_{0}(\zeta+t+2 \mu(x)) d \zeta
$$

acting in the space $L_{2}(0, \infty)$, which appears in the main equation. It is showed that the operator $\mathbf{F}_{0 x} f$ is compact in each space $L_{2}(0, \infty)$ for every choice of $\mu(x) \geq 0$. Taking $f(t)=$ $K(x, t+\mu(x))$ the integral equation (4.1) can be written as

$$
f(t)+\mathbf{F}_{0 x} f(t)=-F_{0}(t+2 \mu(x)) .
$$

For solvability of this equation, it is necessary that the homogeneous equation

$$
f(t)+\mathbf{F}_{0 x} f(t)=0
$$

has no nonzero solutions in the corresponding space. The operator $\mathbf{F}_{0 x}$ has the same properties of $F_{s, a}^{+}$defined in ([4] s.202). The kernels of both of two operators are defined the functions $S(\lambda)$ having same properties. Hence the proof of lemma is obtained as result of Lemma 3.3.3 in ([4]).

For every $x \geq 0$ the main equation (3.3) hasn't any solution except for $K(x, t)$ satisfying the relation (1.9) according to Theorem 4.1. It is arrived the following result from here.

Theorem 4.2. The scattering function determines the boundary value problem (1.1),(1.2) uniquely.
Proof. Clearly, when it is given the scattering function $S(\lambda)$, the function $F_{0}(x)$ is found by the formula (3.2). By aid of this function, it is constructed the main equation (3.3) according to unknown $K(x, y)$. It is seen from (4.1) that the main equation has an unique solution. The potential $\Omega(x)$ which has the form (1.9) is established uniquely by $K(x, y)$. It is constructed the equation (1.1) by given algorithm. The theorem is proved.

## References

[1] T. Aktosun, Construction of the half-line potential from the Jost function. Inverse Problems 20, 3 : 859-876 (2004).
[2] B. M. Levitan, The inverse scattering problem of quantum theory. Math. Notes 17:611-624 (1975).
[3] B. M. Levitan, Inverse Sturm-Liouville Problems. Utrecht:VNU Science Press BV, 1987.
[4] V. A. Marchenko, Sturm-Liouville Operators and Their Applications. Basel: Birkhauser, 1986.
[5] M. G. Gasymov, The inverse scattering problem for a system of Dirac equations of order $2 n$. Trans. Moscow Math. Soc., 19:41-120 (1968) (Trudy Moskov. Mat. Obshch., 19:41-42 (1968)).
[6] M. J. Ablowitz, H. Segur, Solitons and the Inverse Scattering Transform. SIAM Stud. Appl. Math. 4, Society for Industrial and Applied Mathematics, Philadelphia, 1981.
[7] M. G. Gasymov, B. M. Levitan, Determination of Dirac system from scattering phase. DAN SSSR 167, 6:1219-1222 (1966) (in Russian).
[8] M. G. Gasymov, The direct and inverse problem of spectral analysis for a class of equations with a discontinuous coefficient, in Non- classical methods in geophysics, Novosibirsk Nauka, 37-44, 1977 (in Russian)
[9] I. M. Guseinov, On the representation of Jost solutions for Dirac's equation system with discontinuous coefficients. Transactions of AS Azerbaijan, 5:41-45 (1999).
[10] I. M. Guseinov, The inverse problem of scattering theory for Dirac system of equations with discontinuous coefficients. Dokl. Akad. Nauk Azerb., 55, 1-2: 13-18 (1999).
[11] I. M. Guseinov, R. T. Pashaev, On an inverse problem for a second -order differential equation. Uspekhi Math Nauk 57:147-148 (2002).
[12] Kh. R. Mamedov, Uniqueness of the solution of the inverse problem of scattering theory for Sturm-Liouville operator with discontinuous coefficient. Proceedings of IMM of Nas Azerbaijan 24:163-172 (2006).
[13] B. M. Levitan, I. S. Sargsjan, Sturm-Liouville and Dirac Operators. Kluwer Academic Publishers, Dordrecht, Boston London, 1991.
[14] Kh. R. Mamedov, On the inverse problem of scattering theory for a Dirac equations system, in Abstracts Book of International Scientific ConferenceMathematical Analysis, Differential Equations and their Applications, September 18-23, 2006, Uzhgorod, Ukraine.


[^0]:    *Corresponding author. Email addresses: hanlar@mersin.edu.tr (Kh. R. Mamedov) acol@mersin.edu.tr (A. Çöl)
    ${ }^{\dagger}$ This research is supported by the Scientific and Technical Research Council of Turkey (TUBITAK NATO PC-BC)

